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(1) log,1=0 1) a® =1

(2) log,a=1 (2)al =a

(3) log, MN = log, M + log, N (3) a”;a” =a"t"
(4) 1oga M = log, M —log, N (4) Z—n =am "
(5) log, M=k log, M (5) (a™)" = a™"

O (1) log,1=0 <= a°=1
T
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p=a
qg=1
(3) log, M =m <= a"=M o000 log, N=n <= a"=N
T T
p=M p=N
g=m g=n
O000MN =a"a™ = a™™"

1
p=MN
g=m-+n
(4) log, M =m <= ad"=M 000 log,N=n <= da"=N
T T
p=M p=N
qg=m qg=n
DDDDﬂzﬂzam_”
N a”
am":% = loga%:m—nzlogaM—logaN
T
M
P="N
g=m-—n

abm =Mk = log, M* =km =k -log, M

1
p=M"
q=km
O0oo0odo a,b,e>00a,c#1
log,.b
log, b= OB
log.a
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(1) log, 3 + log, 6 = log, (5 X 6) = log, 16 = log, 2! = 4log, 2 = 4

w

(4) log, 12 — log, 3v/2 = log, —— \/_ = log, 2v/2 = log, 2% = i log,2 =

5 &
(5) log, V6 +log, ¢ \/ —logy ¢ \/ = log, 62 T 4 log, <3) — log, <5)

1
:Elog26+

[\'J

3 10%25 % 10%2 9

1 1
= - (logy 2 +log, 3) + g(logz 2 —logy 3) — (logy 3 — log, 2)
1 1 1 1 1 1
— _ —_ —_ 1 2 ————— l 3 = 1
<2+3+6)Og2 +(2 3 6)Og2
1 3 3 3 3 3 3
(6) 5 log,o 8+logy, b —log, 1_0 = logy, 8% +logy, ) —log E = log,o 2+1logy ) —log 1_0

3 10
= logw (2 X E X ?) = logw 10=1



